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#fio~1 |
e - ,
1~14 &8, BFF2ZTER o
1 3x+1<x+5 v
B:msm—x+(—1)

3x+(—x) <5+(—1) #2x<4, .,x<2
R4 (Solution set) B( —o0, 2 ) :
2 1—-2x<5x—-2
BR:mam2x+2
3

1+2<5x+2x , 3 <7x, .. x>—7—

ﬁﬁﬁ(%,w)
3 3—2x>0
B : ®iahn 2x

3>2x ,E&x<%,

ﬁﬁﬁ(—w,%)

3x 1
4 4 -—'2—<0

B8 : M4
3x 1 ‘ 2
4(4—-2-)<0,El]3x 2<0 ,#3x<2, x<3.

ﬁﬁﬁ(—w,%)

3x—5
A ——'2 <0
A : mak2

3x—5<0 , #3x<5 ,.-.xs%
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6 0.01x—2.32>0
D RN 2. 32
2.32

0.01x22-32 ) mx 2'_.— 9 Py x2232

0.01

RER [ 232,)

7 ~0.1<x=5<0.1

B:&ms5
5—-0.1<x<5+0.1,#4.9<x<5.1
MES (4.9, 5.1)

8 —0.01<x+3<0.01

B:8mMmC-3) ,
—3—-0.01 <x<—-—3+0.01,#%—-3.01<x<-2.99
MER(—3.01 ,—2.99)

9 —0.03s—21‘5i§g0.03

B: &%5 .
-0.15<2x+3<0.15 , % —3.15<2x<—2.85
So—1.575 < x<—1.425
ES(~1.575 , —1.425 )

5—2x

4

B: —0.004<5-2x<0.004 , —0.004<2x—5<0.004
#4.996 < 2x<5.004 , ..2.498<x<2.502
MRER( 2.498 , 2.502)

Il x<x+1

B:0<1,BEB(—0, )

12 —e<‘."‘7‘3<e’ , £>0

10. —0.001<

<0.001

B —7e<4x—3<7¢3-7e<d4x<3+7e

3—7¢ 3+ 7e
=>_4 <x<——_4
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12x—3x<—4—12 9x<-16
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6x+ 2 x—4
9 3 S 2

> x<

(2)5'"—1<x <4 ,HOK . -
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BELE lsﬁﬁﬁﬁrﬁﬁ"ﬁﬂiﬁﬁﬁ R x FTRMEA
15 /2x—8
REF HRSEE , B2x—8>20, #Hx>4
RER(4,0),
6 v3¥ix

Bt 5 ax>0 x> —3, mER( -3, o)

17 J br—4ax
AR aRbESEE , b >4ax ., FTA=HE :

b? b?
@#%Fa>0 )EUXSH a&’ﬁﬁ(—waﬁ Js
MEa =0, b*>dax BRI , KEWEBHFEKN .
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18 V16—7x
B: 67x=0, mxs—lf , R (—oo ?J

BENE2E, %iﬁﬁfﬁ?ﬂq‘fﬁ7ﬁﬁ§&m > 5954: 0F-F=3

19. \} 3—2%

" 3-2x%0 ,xag% = { x| x>%}

20 Jx*+5

B: x*+5>0 #HmE=9

2 JF Bx , x*—06x<0

B x(x—6)<0 #MO<x<6

RE = {x] 0<x<6}

X +
n VI
i : ”g 0 , (x+3)(x—=2)<0
‘ >—-3<x<2 fBf={x|-3<x<2}
BEA~URH x HEHE T Rak

A x+1>0Kkx—3<0
B: BfBe, sx>—-1Kkx<3 ,80-1<x<3
ﬁ%g(—l ,3 )o
A x—-1<0Ekx+2>0
B:x<1Bx>-2, &8 (-2,1)
1

& x+3<0,

m: |
SRR (x+3)2, %—ﬁﬁ%iﬁ\(x+3) >0,
mXT3<OQWX<"3_’EDﬁ%%(_°°’—3)o
1

A =50

A :

mﬁa,zx—5>o,mx>%,ﬂ§ﬁc§,w>
A 3x—220Kk5x—1<0
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o HRE , ngﬂxé ,L > -, WRRRS -

B 2x+1>0Kx—1>0
- [B: - 1 - :
Ehfﬁﬂ, X>—§&X>1,mﬁ§ﬁ( 1 1°°)

29 4x+3<0H6x+7>-3
@: —10 ol

x<—gBx>=gl==2

BE={ x| x<-—z} Ui{x| x>_—35}=(—°°,‘°°)

0 —3x<0 B 9x>0
B:x>0 & x>0
TRE={x x>0}
3 3x—7>0 H 4x+2<0 H -—-3x+5>0

B4 :
= x>%ﬁ x<—lﬂ. x<§—

2 3
=9
2 —-3x<0 H 9x>0
B:x>0 H x>0 ﬁ§—~{x|x>0}
3 | x=-3|=x+7
B: x>3 x—-3=x+7,-3=7F7%

x<3 3—x=x+7 x=-— §=
= mme(-21

U | x|=2x+1
B: x>0 x=2x+1 x=-—1 ﬂ;
x<0 —x=2x+1 x=—_3—1-
= (=h)
%Tﬂ@ﬁqﬂ , Ca,b YR (e , d )gﬁﬂjﬁmx nﬁﬁ(nei@-
borhood)- , &/ HH:
35 (a+c,b+d)Bm+n 2K
FB:h(a, b)BmZBK, Ma<m<b;@Hc<n<d.i§it
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ARG HEM, HBa+c<m+n<b+do
#m+ne(a+c., b+d)oe _
HB(a+c, b+d)S—PFIERM (open interval) ,# ( a+c
» b+d) Bm+ n 28K (KRAER , p.6 ) o

% (a—d,b—c)Bm—n 8,

® - HERBEHAM3S HER, Ha<m<bKkc<n<d,
Hf—d<—-n<-—c, gt a <m<bHEM, &
a—d<m—n<b-—co,
WEBAEM (a—d,b—c)Bm—nZ#EK,

% (ra,rb) RrmZMWi ,HPr>0o

B oHBH,a<m<b,Hr>0,HKar<mr<br,
HWBHER ( ar , br ) Bmn 2 A8

B #a,c>0,H/l(ac,bd) Rmn 2R

®: 0<a<m<b , HO0<c<n<d
#ac <mn < bd

®a ( ac , bd )Rmnzmiﬁo

By Fa>0, EIJ(_ , = )ﬁ%znmo
£%£§x<m<b
a'ﬁ«,s;k <—,m— i P
,d n ¢
Qﬂ(—’+§ﬁ~2#ﬁo
Eﬂw~ﬂﬁTﬂ$%ﬁ :
0 | x— 1|<3 ? :
/ E:3>0 s —FEg— <3
( —3+1<x<3+1 =2<x<4
RER(—2,4)
4. | x+2]<5
A0 e 75 <X 42 <5
o 5.2<g<5—2‘ Z7<x<3
BEB(—7,3) . ..

BLE D O T FO g 7 YRS & S

g 2x-11<D1



@:0.1>0 .~.—0.1<2x—1<0.1.
—0.141<2x<0.1+1  0.9<2x<1.1
0.45<x<0.55
R ( 0.45 5 0.55 )

43 | 3x—5 ] <0.05

B: 0.05>0 S.—0.05<3x—5<0.05
—0.05+5=<3x<0.05+5 4.95<3x<5.05
1ﬁ5gxg§§§

5.05

RER(1.65 S J=(1.65,1-683)
W | 4—-3x|<5

B:5>0 ..—5<4—3x<5
—5—4<—3x<5—4 -9<-3x<1
9>3x>—1 3>x>—7
ﬂ%ﬁ(—%,B)

6 | 1—-2x|<1

B:1>0 —-1<1-2x<1
~l=-15<2xx'1°41] 2<—2x<0
2=2x=>0 1>x>0

- RES(0, 1)
% |1+2x <1

B:1>0 —-1<1+2x<1
—-1-1<2x<1-1 —-2<2x<0
—1<x<0
RER(-1,0)

4 | x+7{<2

B:2>0 .—2<x+mr<2

—2—7<x<2—-7mfl—-(2+7 )<x<2-=x
MER( 2-7 5 2—m) e
BEB/EHMTIITER
8 |[x|>2

0-1

® 7



8 WoE WITRAEE

B:x<-28x>2,MER(—0,—-2)U(2,0)

49 |3x[|>6

B:3x<-6#3x>6 , .x<—-2Hx>2

_ BER/(—00,—2)U(2,0),

5 |x—1]>3

B:x—-1>38x—-1<-3, .x>48x<—-2
BEER(—0, —2)U(4,0)

5. | x+2|>=5

B:x+2>58x+2<-5
SLx2>38x<—7

2 | x+21<e e>0 '

B: —e<x+2<e
—2—e<x<—2+¢
ME={x|—-2—e<x<—2+¢}

53 | 3x+7|<d 48>0

B: —-0<3x+7<4 '
‘2*5< <=1+ 7;@ = x| —2;5<x<—7;5}

M | x—a|<d, >0

[ :a—0<x<a+2d RE={x|a—0<x<a+d}

0
55. Iy—'7|<"§', 5>0
i : 0 0 0 0
—_—<y < — ={ ik b
7 3.y 7+3 fRE=1{+|7 3<y<7+3}

1.

ﬁtma#b,ﬂa>bﬁa<b #a>b,Hlla+a>b+a,
# 2a>a+b,Wa>210
X#a>hb , ﬂa+b>b+b Wa+b>2b
&a+b>b A e 8tk >b




0-1 ® 9

ﬁﬂ,§a<bﬁ,a<a;b<bo

2 #a>0,b>0Raxb, @I/ abEEa kb2 M
B HEMaxbASRUT :

(i) a>b>0
Al a-a>a-b b-a>b-b
a® >ab ab> b’
b<yab<a
(ii)O0<a<b '
Hla-a< a+*b b-a <b-b
a® <ab ab< b’
s.a<4ab<b
- E(\/'—Efrﬁ(‘a,bzmi ' $
3 Fa>0kb=20,BHA >b" 2 EBEEKGERa>b ( n RFBK
)0
‘B:() a=b

Hla®—b®=(a—b) (a ! 4+a™2b4a’ 2bt 4 ccereerrencaneeens
+ ab™ % +b™!)
=(a—b)F(a,b)
‘*a>0 b>0 ..F(a,b)>0
Xa=b Hla—b=0
Sa"—b*>0 Bl a®>bp°
(ii) #a*>b* n BTEEH
a"—b* =0
X F(a,b)=a"t+ar" 2 b+-..--- +ab®*+b™' >0
Ha"—b*=(a—b)F(a,b)
S.a—b>0Hla>b
a+b

4L Fa>0Kkb=>0,8H =>yab , HEBRR I ZHEBRER

a=bo,
#F:at+b—2Jab=(ya)*—2Jab+ (/b)) =(ya—/b)?
Ha>0Rb>0,H ARV EBEK, Gy E— v BEK

RS BT ey aBERL R
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%a;b=JmLma+b—mﬁm=o , B9 R T4

va—Jb=0,8a=bo

ﬁi:§a=b,ﬁﬂm=ﬁ=a ,Ra;b=a
f&a;b=\/a5 |
§ Ha>0Eb>0,BMa>b  HEEE L<o

H:a>b>a—b>0,ab>0

1 1 _a—b b N Py
b a__ﬁ>0 :>a<b(.a>0,b>0)
) B v

a b

#i0~2 ZFHEMHIBFAI(EBEI5EH)

I. BT AFNFTRNES

1 {(x,y)|0<x<4,0<y<2}
: y

X
4

2

2 {(xy)]—-1<x<1,-1<y<1}
i [ y

LN R |
G
.221




0-2 HERFR/A 11

3 {(xy)|x=3 —2<y<2}
B3 - )y\
0,2) 1 '[(3'23
1L(3'°>>‘
0.-2) ¢ (3,-2)
4 {(xy)]|1<x<5,y=0}
B AN
N
1 5 £t
5 {(xy) | x=2,y CEEY)
: Y/N
X=2
L >N X
(0,0) 1 2 %
6 {(xy) | x EBEH ,vy=—1}
3 : ‘ y N :
(0 ,.0)
> x




12 RO0E @ RAFEE

T {(xy)| x EEEH , [3y+2]>1}
B:3y+2>1 & 3y+2<-1

Sys=h @ yx~1
AY

NG/
I ATT T

—_—

3

(o =L

M-

8 {(xy)| (x=3)2+(y+2)*<0}
- y

__2L

!(3,—2)
9 {(x,y)| Ix=3|<2,|—y+1[<5}

1<x<5, H —4<y<6
- v
(5,6)

W

(1.-4)(5,-4)
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